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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o FABUEE RPLHES A8 FLS
= 3,000,000 3,000
206 M= Hl 12,000 12,000 0
01 M= 4l 12,000 12,000 0
OBLE2RAE Z208 29 HEPY
800,000& x150H =2 T &4 12,000
301 g4 = 87,400 86,200 1,200
09 SAAHIEA S 36,000 38,000 A 2,000
O3 8583 &4 24 26,000,000 26,000
OXZH ZZ20l=20 2E2Hd=
10,000, 000& 10,000
MIIEEdS3 51,400 48,200 3,200
OE2Y Rofled dAxas 200,000& 200
OFALESANE T2 29 2AxE
48,000,0008! 48,000
O0S BAE HEH0YDS ALY
3,200,000 3,200
307 21201 A 19,000 19,000 0
04 DIZHHALALSE E X 19,000 19,000 0
ON23s XN&EH 8= FLAEINLAM
19,000, 000& 19,000
HAEXIS A BHXIXIE (XA 81,870 0 81,870
101 @124l 81,870 0 81,870
03 RIAHAA2ZZRHE > 81,870 0 81,870
02Z HEXNI2T(ITHLY +AL B4
HXI S A 81,870
o EEFOtH| 5,073,000 5,073
o BHUZAlH| 4,680,000& 4,680
o ANzZtel=% 288, 100& x12& «3Y 10,372
o HItE &H| 3,451,000& 3,451
o 4tHEH 14,782,000& 14,782
o RY2RE 115,840& x50 +6H 34,752
o E&0HI 80,0003 x12& +6H 5,760
o ARW=E Ol 3,000,000& 3,000
HAEXZAN BIXIXA(EX) 67,632 138,546 AT70,914
J| 32,040
Al 35,592
101 @14 dl 67,632 138,546 AT70,914
Jl| 32,040
Al 35,592
03 RIAHAZ 2T E =+ 67,632 138,546 AT0,914
023 4EXIZNHS3 LY gAML EAa
HX & A 67,632




SN HSEAED
HE: 3aE 25 o

HAU 2 =4
Sl AW S48 U AE 29 (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
oJlE=a 50,724,000& 50,724
J| 25,362
Al 25,362
o &03 16,908, 000& 16,908
J| 6,678
Al 10,230
NEHLAEHEHI T 2L (YA )(EX) 4,000 4,000 0
J| 2,000
Al 2,000
201 £Br2%H| 1,200 0 1,200
J| 600
Al 600
01 At 22/l 1,200 0 1,200
OELE2IHRJS 29 24 2~+600,000& 1,200
J| 600
Al 600
301 et a = 2,800 0 2,800
J| 1,400
Al 1,400
09 &AL HI B &S 2,800 0 2,800
OEA2E2ER3s 44X AHE24
204 & %1,400,000& 2,800
J| 1,400
Al 1,400
a9 EsHEESs AR 1,700 5,200 A 3,500
202 oddl 1,700 2,200 A 500
01 = LH o4 1l 1,700 2,200 A 500
OFEL4E BsHx g5Y| 1,200,000 1,200
Ogu=Edpe g2 500,000& 500
FAENSEOE XA 13,000 28,000 A 15,000
201 L2l 13,000 28,000 A 15,000
03 A2 Z Hl 13,000 28,000 A 15,000
OE2Y HSEOY 22X 13,000, 000& 13,000
HAEAMNGSIME X3 (XA 177,475 0 177,475
307 izl & 177,475 0 177,475
10 AL SXAIEEE2EHEX 177,475 0 177,475
OFAEAE=ESNMEH 22 H (A8 Z&)
177,475,000& 177,475
HAHMNGSIME N (EX) 20,000 185,300 A 165,300
= 20,000
307 glz2tol & 20,000 185,300 A 165,300
< 20,000
10 AL SXAIEEE 2 H EX 20,000 185,300 A 165,300




SN HSEAED
HE: 3aE 25 o

Sl AW S48 U AE 29 (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
O L2 4g5XdEH ALXR 20,000,000 20,000
< 20,000
Hidsote NA(BX) 11,250 11,250 0
J| 4,500
= 2,813
Al 3,937
307 21201 A 11,250 11,250 0
J| 4,500
< 2,813
Al 3,937
11T MISXASEX 11,250 11,250 0
OE24E S0t sk 11,250, 000& 11,250
J| 4,500
< 2,813
Al 3,937
NEHLAEEHI 7 2L (FAHAKI)(EX) 2,800 2,800 0
J| 1,400
Al 1,400
201 £B-2d| 800 0 800
p 400
Al 400
01 At 22l 800 0 800
O3 E FUHAAS 2 800,000& 800
J| 400
Al 400
301 LEtE A= 2,000 0 2,000
J| 1,000
Al 1,000
09 &AL HI B &S 2,000 0 2,000
OF2d FHAAS AL AdE4
,000,000& 2,000
J| 1,000
Al 1,000
Hid AZEGM o StNZANBUR(EX) 6,250 6,250 0
= 5,000
Al 1,250
307 glz2tol & 6,250 6,250 0
= 5,000
Al 1,250
11T M 2XASE EX 6,250 6,250 0
OZAH UM U SDEAWYRS
,250,000& 6,250
< 5,000
Al 1,250
NAME HLAHSEXNMHA S (EX) 90,100 87,670 2,430
J| 45,050
Al 45,050




2N
X ZH -
L= B

el

SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2

307 2Iz2to| & 90,100 87,670 2,430
Il 45,050
Al 45,050

11T A EXAIEEX 90, 100 87,670 2,430
OFALAESESXNEMARSE 90,100,000 90, 100
Il 45,050
Al 45,050

sty g AW XR/|(EX) 78,000 96,600 A 18,600
J| 54,600
Al 23,400

307 gizto| A 78,000 96,600 A 18,600
Il 54,600
Al 23,400

11T AISIEXAIEEX 78,000 96,600 A 18,600
OS] % 344 & 78,000,000 78,000
J| 54,600
Al 23,400

HAHE EYUXK(EXR) 4,286 4,240 46
J| 3,000
o= 643
Al 643

301 et A= 4,286 4,240 46
J| 3,000
= 643
Al 643

01 Al E& A %52 4,286 4,240 46
O 2AUEHIIANY 29 4,286,000 4,286
J| 3,000
& 643
Al 643

HAESE} T2 29 (EX) 58,322 58,320 2
J| 29,161
Al 29,161

307 2iz2to| A 58,322 58,320 2
J| 29,161
Al 29,161

11T AISIEXAIEEX 58,322 58,320 2
OFAYE SEHA T2 29 58,322,000 58,322
J| 29,161
Al 29,161

SDEAHRYEYD N (LX) 6,000 6,000 0
=} 1,800
Al 4,200

307 QI2t0| ™ 6,000 6,000 0
= 1,800
Al 4,200
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SE RPNt

% S 4 14
SN - SAGEA) - MRAY - BES 0l &t o e
A S XA E X 6,000 6,000
OSn=HI2UERD XA 6,000, 000& 6,000
< 1,800
Al 4,200
FAE ANAME 2208 XJA(BX) 3,000 3,000
=) 3,000
307 glztol & 3,000 3,000
=) 3,000
1A SXAIE E = 3,000 3,000
OE24d JZAHE 228 X
3,000,000& 3,000
= 3,000
A AU (MsELED) 30,000 30,000
UM SHAE D) 30,000 30,000
Jl2Zdl(MsdEAdn) 30,000 30,000
201 ¢4l 5,400 5,400
01 AF22t2l ] 5,400 5,400
0248+ 5,400
o =g 60,0003 *90L =1 5,400
202 Oddl 20,400 20,400
01 = LH 4 Hi 20,400 20,400
OSE =80l 100,000& «17H «12& 20,400
203 2 =&l 4,200 4,200
04 EASEYRFEH| 4,200 4,200
OXN=sEa24d 350,000& 12 4,200




